
御ι
lへ家ジト

ι
‥
．　
　
●

　

　

■

′
ヽ

　
ヽ
‐
″

１
．
　

　

　

一

助撃

2次方程式
"2+π
+1=0の 2つの解をα,βとし,α

π+β・=税 (πは自然数)とする。

次のことを証明せよ。

(1)″+α+1=0ならば,ごⅢ2+♂+1+♂=o

(2)疏ギ2=~OL+1+50

(3)S5=Tl

d' 体
hす
|千み営 lfん

へ‐0  1こ

レ彎ι越ル

１
７
１

　
　
”

２
　
　
　
　
●

Ａ
ハ
″
‐
　
　
　
　
　
　
、
）

」一　
　
測
お
　
　
　
μ　
｝‐
〆

『　岬
抑
押
呻
鵜

・コ

Ｌ

ゝ

鋳

鮮

一　

　

　

　

　

〇

夕こ′t儡 よヤ十J■

′
二十メ千

0め 北邸 イ

11ヽ釧∫
■く1鉾
Ｌ
∵

θ
矢(Aムイスfrり■‐σい①

^tt先
す〔̀θ√ぅのa ttLιフ0

♪`
  え|だ寸〆

tttメトしθ

(》)イ ノb磨多ごリ

メ
ハ十■十・(β
へt2t―

じ  Ⅲ…

メれ響ρ
｀
リ

μ
れ'(´十り| ■

.|プメ
キ

l'′
ιt‐45, 多ヽ

蝶 嵐t●//W―・mathextoiⅢ/

t `メ2†ゎり(ノ'lβ'' =′角β
し

` 

メ¬レ4リ

` ●|・2,|・ l―l)


